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From the free body diagram for mass 1 we can write:
—f = — ma
Note the mmus signs mdicating direction to the left.
f=ma®

Thus 1s the net force acting on mass 1 to the left.

From the free body diagram for mass 2 we can write:

- F+ f = — mua (2)
Note agam the mmus signs. Check that these make
sense to you.

Thus 1s the net force acting on mass 2 to the left.

Substitute for £ from (1) in (2):

-+ ma= — m,a
F = (m, + m,a

B F
a_(ml—l—mz)

3.2 9
a = —= 0914 ms
3.5

Substitute for a in (1) to find £
f=23x0914 = 21N

. Magnitude of force between blocks 1s 2.1 V.
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